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Note: First 15 minutes arc allotted for thc candidates to read the question
paper.
fordwr ¢ ) vt w9 wfad €1 u@ds gy & Fuifa 3w 3aF wow Ko o €
i) oS WA § o % W 17
iii) WAl & wrhe 3w fafan
jv) R aEvgs @, TaEfE aEer G
Instruction :
i) All questions are compulsory. Marks allotted to each question are
.given in the margin.
i) In numerical questions, give all the steps of calculation.

iii) 'Give relevant answers to the questions.
iv] ‘Give chemical equations wherever necessary.

1. WA % vdw @ ° 9r faweq f5u o € we fawed gEeR 3@ AT I

mﬁmz ' ‘
F) o 319 W R O, ey 3R 9 R €, FEE &

)  ifaes 3 i) mafE 3 _
iii)  wifears 3 iv) OEEGNTE S| 1
W)  10% FAHM FAd S osi" %4200 g [FeraT § g F1 A E
1) 50g ii) 100g
iij) 200g iv)] 40-0g. 1
M U AR & 6T A Rriw (k) 2.3x10"5Lmolls™! #1 sifufEar @
e gt
i) Y HR i) wum Wi :
i) il e iv) T § WIS € 1
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1}} A ii) Tarftaa
1 E]|qqu

i) z{ﬂﬁk_'f t

m st s @ @
l] a:"ﬁﬁ AT ii) FA= |G|
i) Sfesess iv)  wIffeR et |
Fiieret i e 2 &
i) CH,NH, i)  (CHy),NH
i) (CHy),N iv) (C,Hg),NH. ]

Four alternatives are given in each part of this question. Select the
correct alternative and write it in your answer-book :

a)

b)

)

70022/85

The solid which is electrical conductor, ductile and tensile, is called
1) Molecular solid R lonic solid .

111) Metallic solid iv) Coordinate solid. 1
In a 200 g solution of glucose with 10% mass per cent, amount of
glucose will be '

i) SO0g ii) 10:0 g

iii) 200g iv) 400 g. 1
Velocity constant ( k) for a reaction is 2-3x 10"°Lmol™'s™!. Order
of the reaction will be

i) Zero order ii) First order

iii) Second order iv) None of these. |
The base not present in RNA is

i) Adenine ii) Guanine

1) - Thymine iv) Uracil. 1
Cannizzaro’s reaction is exhibited by

i) Benzoic acid ii) Toluene

iii) Benzaldehyde iv) Formic acid. |
Carbylamine reaction gives

i) CH,NH, ' i)  (CH,),NH |

iii) (CHj4),3N iv) (C,Hg),NH. 1

i

wwuﬁuwaﬁmmaﬂmﬁﬁw: | \ 2
e A W HISH B FE raHtEE 59 (bec) &1 FIBH F BR F
creré 200 pm ¥1 A F WA 7 g/em® B A FATTF 20 g A
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i) foredt famras = areere aa & T =G vz R

i) 298 KW 0.20 M KCl Re@a & ameehal 0-248 Scm™! 21 308
[eR AHaO =7 @t ?

1+ 1

v wfe & fufear N205(9}42N02(Q}+%02{g} # 310 K ™
N,O; ®! URR® T 1-24x1072molLl™! & @ 30 famz & avam

0-20x102molL"! ® I 310 K W an fgds # T Hifww
(log,,6-2 =0-7924) 2

Calculate the packing {.:apacity (efficiency) of a simple cubic lattice.

2
The structure of a cell of an element is body centred cubic (bec).

The length of the core of the cell is 200 pm. Density of the element

is7 g/cma Determine the number of atoms in 20 g element. 2

Give answers . - : 1+1

i) Why does the conductw:ty of any solution decreases with
dilution ?

ii) Conductivity of ‘020 M KCl solution at 298 K is
0-248 S cm~!. What will be its molar conductivity ?
Initial concentration of N,O¢ in a first order reaction

N205(g]—>2N02[g)+-é—02(g) was 1-24x102molL™' at 310 K,

which remained O- 20x10?molL"! after 30 minutes. Calculate
velocity constant at 310 K. (103106 2=0- 7924) 2

S0 Fied T HITAT :
i) o Eg W ifas sveiwr w1 vedr € 2

i) éT%mﬁuﬁﬁmﬁqﬁmwmmmw
?

fefafaa = |ERT -
iy  NCl, 9 5 ¢ e NClsaﬁumﬂ ?
i) e vae SR @l o ¥ 2

frr i S forlte @ a2 SAE F U ST ARTE 1 4
D-TE@HIA a9l D-FRI ! Wa § 3= W A

1+1

1+ 1

2
Justify with reasons 1+ 1
iy ~Why docs physical adsorption decrease on increasing
temperature ?
ii) Why are the pOWdFrcd materials better effective adsorbent in
comparison to their crystalline forms ?
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Explain the following : a
i)

i)

l'*-lCl3 occurs but NCIlg does not. Why ?

Why arc halogens strong oxidising agents ?

What do you mean by bidentate and ambidentate ligands ? Givc
onc example of each. .

Differentiate between the structures of D-glucose and D-fructose. 2
O-1mol L™ KCl Wﬁﬁ@wwﬂﬂmqﬁﬁu 100 Q &, A
0.02molL"' KCI faeras &t wirivsar 500 Q &, @ 0-02 mol L-! KCl
foreras F STeTHaT Ud e SIerRar i St L
0-1mol L~} KCI faems &t e 1-29 Sm™" €1

. 13 + 13
frefafaa o favig Fitag - 1+1+1
i) arataes faeam @ e
i) s iR FEfERel FeEs
i) wg v ol gEs SNfvas s |
frfafaa W e feoel fafaa - 1+1+1
i) . WA @ e T
ii) T2EE 9
iii)  AFARAHUESH | |
frfefigd =1 sRoT Fai3T 13 + 13
i) e frga-wroeE shfear S 7@ FT E
ii) @aqﬂqwﬁﬁﬁﬂ%mqﬁﬁwﬁa
The resistance of a conductivity cell, filled with 0-1 mol L1 KCI!
solution ‘is 100 Q. If the resistance of this cell is 500 Q on filling

0-02 mol L-! KCl solution, then calculate the conductivity and
molar conductivity of 0-02 mol L-! KCI solution. The conductivity of

0-1 mol L-! KCI solution is 1-:29 S m~L. 13+ 13
Differentiate between the following : _ : 1+ 1+1
i) True solution and suspension

i) Lyophilic and Lyophobic colloid

iii) Multimolecular and macromolecular colloid.

Write short notes on the following : 1+1+1
i) Secondary structure of proteins

ii) Peptide bond

iii) Monosaccharides.
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.?w.e I‘t;iisons of the following : v 1
: niline does not exhibit Fried 13 + 13
‘e . cl-—Cran_ .

1i) Ethyl amine is soluble in S reaction,

. water while aniline is not.
ST O TORT S § a9 &0 F999 ¥ 2 0 0ot $- 900 crm? el

faea® & 126 g WM ¥1 W W R T 610

-1
300 K W 39 fareta= =1 qorawor g @1 @y 223[“01,22
i) TEEAEE SR & an @ a9 T v § )

i)  See & HEW H wweEl 2+ 2
Frfefiaa =i R afea @y - 2+ 2
i) HeHHUT YU JEFEaEr T A = §

ii)  GHHUT HIY A9 I NRER I T grasig a1 & |
Frfefaa Ivgeddis il & IUPAC 3 f@fau -

i) [CrCl,(en),|Cl -

ii) Cs|[FeCl,]

i)  K,(Co(C,0,);]

iv)  [CoCl,(NH,),]

What do you understand by osmosis and osmotic pressure ?
126 g protein is present in 200 cm® aqueous solution of protein.

Molar mass of protein is 61022 g mol~!. What will be osmotic
pressure of this solution at 300 K ?

1+ 1+1+1

2+2
i) What do you understand by velocity of a chemical reaction ?
ii) Explain Raoult’s law. 2+2
Explain the following with reasons : 2+ 72
i) Transition metals generally form coloured compounds.
i) - Transition metals and their maximum compounds are
paramagnetic.

Write IUPAC names of the following coordination compounds :

- I+ 1+ 1+1
i) [CrCl,(en),]Cl

iy  Cs[FeCl,]}
iii)  K,4[Co(C,0,),]

iv)  [CoCl,(NH,),]

Immﬁﬂﬁufﬂwﬁ‘cﬁﬁmluaq&q;

W%Waﬁmmmm'w| 2414141
e
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RN R T (e s wdew ) —

' TERE s % faem amirda @ fem weh ¥ 2

W) TR gew sRaieans & A e ST R 2

W) IS et qe g NaOH frera @ e wedt @

W) I AR % g AffEn w2

V) fo o i e v A AfGEm AT Y 2 1l
E)  afefaa At S e fefe

i) 2-FERT 3-Afge T=RA

i) 1,4-3EEM FZ-2-F

i) 1-FeR-2-Afe asiE

i)  1-FR-4-ufae TREREa

v)  3-smt-2-nfae gg-2-3 14 1+1+1+]

gl

T A & W9 (Fae Tt g e ) —

i) n-ﬂﬁﬁWﬁ&ﬁﬁmKOH%mm%mmt;

ii) ﬂﬁiﬁﬁm@ﬁﬁﬂﬁa%ﬁaﬁﬁmﬁﬁmn

iii) wmﬁmﬁﬁﬁﬁﬁamﬁwmﬁﬁz;
iv) %mﬁﬁmﬁcwazﬁ%?
v) AR E) AGFT T NaOH R € 2 1+ 1+ 1411
6. a) Describe the industrial manufacture of sul;_:hur dioxide gas. (:1
also chemical equations of the reactions. Give chcrplcal equations
of the reactions of sulphuric acid with calcium fluoride, copper and
sulphur. 2+1+1+1
_ OR
What happens when (Give chemical equations only) —
i) lodine reacts with nitric acid solution ?
i1) Chlorine reacts with sulphur dioxide ?
iiiy  Chlorine reacts with hot and conc. NaOH solution ?
iv)  Chlorine reacts with fluorine ?
v) Zinc reacts with dil. nitric acid ? 1+1+1+1+!
b) Write structures of the following compounds :
- i) 2-chloro-3-methyl pentane
i) 1,4-dibromo but-2-ene
iii) 1-chloro-2-methyl benzene
iv) 1-chloro-4-cthyl cyclohexane
v) 3-bromo-2-mecthyl but-2-ene,

1+ 1+1+1 !
OR
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1) ethyl lod?c:::dcr;:afta with alcoholic K%i!ng] -
iii) :dt:ti? b , cts with magnesium in Presence of dry
cthery? fomide reacts with sodium in Presence of o
11:;) g'ﬁ:tfﬂﬁé’.fﬁe reacts with KCN solution 7 Y
Ne reacts with aqueous NaOH ?

&) mﬁﬁmm,ﬁﬁﬁlwmmlaﬁ;ﬁ;ﬂ:+1+l+l
i o d i Faeregeie 3w & o
ity froteltetor | T W & &t frarfafy fafae 24149

Ferar
ﬁﬂ%@ﬁaﬁmaﬁaﬁiﬂ?ﬁﬁqm&&qaapéwawwz
' : 1+1+1+1+1
OH

, @ conc. HNO3 A

OH

@ CHCls + aq.NaOH
G

CHy—CHy— CHy— 0—C—CH,— CHy + HI-25 c+ D
CHga

CrOs
i) CH3CH(OH)CH; —— E

. (i) LiAlH4

v)" CHZCOOH — >

(i) HpO

@) UF FEee dfe (A ) EE anftas g3 C,HLO &, 2,4-DNP
(2,4-BRARES A TR fiysds & 9 AN oict SR a1 &1 A’
wifean egaaRe % Iufafa ¥ I & g T i W U@ 9 77 @5
IR TAT &1 A’ S AIHHE el el faeida @) eaiad el
Xl ¢ oR T @ T8 A I A 9o T e 31w st st 3
Tee AHFET ¥ T BElGHeS T B FA@ 8, aw Afvas g3
C,HgO, ¥ 1 T ‘A’ TN ‘B’ & WU a1 wq@ atffieareii i g

ii)

iii)

23 + 23
Fear
T FA W O (FaA Tt T fefag ) —
) WA R/ 4-EEgE-4- A $RF-2-307 2
i) A Q3R =R 2
i) T W SRAITH I 2
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V) TR s @ woReE CIERERS 2 Cpa1eld
7. a) ) E}ﬁaa Toshieet & HFe Logiied ? 11 Give also the
Describe the industrial manufacture of cthanol. formed  after
chemical cquation of reactions. What IS for ¢ acidic
dehydrogenation of cthanol ? Write the meehanisit o 5, g
dehydration of cthanol to get ethenc. .
OR . es ﬂ.nd
E?_Elﬂlc{c the following reactions and write t?i Fﬂ.,_ 1+1
Ulae of A . v
OI‘{ JBrCJD;E,F-
i @ conc, HNOa_; A
OH
0 @ CHCl, + aq.NaOH
| e A
i) CHy—CH,— CHy— 0—C—CHz—=CHg + HI-=> C+ D
CHa -
. CrO
iv)  CH3CH(OH)CH; ——» E
. v) CH,COOH (1) LiAlH4 .
(ii) H,0 ‘

b) An organic compound ‘A’ having molecular formula (CgHBO): glves
orange red precipitate with 2,4-DNP (2,4-Dinitroph‘3f{}'1 hydl:asz:]
reagent. ‘A’ gives yellow precipitate on heating with iodine in
presence of NaOH. ‘A’ neither reduces Tollen’s reagent, FBPIIUE_ s
solution nor decolourises bromine water. It forms a cax:bo)syllc aﬁfld
‘B’ having molecular formula C,HgO,, on strong oxidation with
chromic acid. Identify compounds ‘A’ and B’ and explain the mairtl
reactions. 2% + 23

OR
How will you obtain (Give chemical equations only] —
i) 4-hydroxy-4-methyl pentan-2-cne from propanone ?
1) 3-hydroxy butanol from ethanol ?
iiijj  Butanoic acid from butanal ?
iv) ".Ethanoic anhydride from ethanoic acid ?
- V) Phenyl ethanoic acid from benzyl alcohol? 1+ 1+1+1+1
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